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ECONOMICS
( Honours Core )
Paper : ECO-HC-3016
( Intermediate Microeconomics—I )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions :  1x10=10
Sod e Sed i

fa) What is cardinal utility?
RAAGS Sepgnfarer & 2

(b) State one assumption of utility analysis.

Seicifarer Resged gbr g fora |
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(c)

(d)

(e)

(9)

)

(i

()

24A/83

2)

What is production function?

e o 2

Define income effect.

IR R ge |

What is marginal rate of substitution?

oifses enfes =W e & 3o 2

What is the shape of indifference curve in
case of perfect substitutes?

of Reg AR cvae ferE @R SR
A A ?

Define expansion path.

SreepfRel 4] Ak |

What is meant by inter-temporal choice?
RIS = A 6 e 2

Define oppbrtunity cost.
{19 IR g e |

State the concept of ‘shut-down point’ of
a firm.

a5l AfSPEE TeAm T R'Y 4™t Sy
91| :

( Continued )
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2. Write short answers of the following
questions : 2x5=10

o] 2MCIRS 7Y eq el

(a) What is meant by budget space or set?

TG T A1 3RS e g 2

(b) Distinguish between gross demand and
net demand.

T oI W w SR W A1 e w4 0

(c) State the two conditions of consumer’s
equilibrium under indifference curve
approach.

Faers @41 ReRTs e SRR 58 700
Y 4

(d) Distinguish between explicit cost and
implicit cost.

S T T TAIT I T LT = |

(e) State the concept of optimum firm.
I AT 4T Sray 9 |
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3. Answer the following questions (any four) :
5x4=20
T 2PIERA Sk o (R e wif¥t) -

(@) With the help of indifference curves,
distinguish between normal goods and
inferior goods.

fre @R =REe TR WA a9 R
AR e o FeT 401

(b) Explain the concepts risk averter, risk
lover and risk neutral individuals.

] HfRF, M SEAE WF 5 Reers
& Y=l T 40

(c) Briefly explain the concept of returns
to scale.

AT G ST (REATCHT S 000 641 |

(d) Briefly state the characteristics of
perfectly competitive market.

o AfeEreEe IR CIFErTR S40F for |

(e) Explain how a consumer can reduce risk.

THACSISTR (FCACE *I53T IR 2GS, T 397 |
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(5)

Derive average fixed cost curve from total
fixed cost curve.

PR @R A e R W G AR
el

4. Answer the following questions : 10x4=40

@]

(a)

(b)
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PIARR Bed -

Define indifference curve. Explain their
properties. 2+8=10

fRers @R e o | TR @REPTR I
39 |

or / 7

Critically discuss the law of variable
proportion. 10
i were RGPS
O] 41 |

What is least cost combination of inputs?
Discuss how least cost combination of
inputs is attained with the help of
isoquant and isocost lines. 10

TS AR A T 7 -SRI (I S
- @Y RS FCd Pored T T
e 91 =Y, S F41 |
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(d)
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Or / 77

Explain inter-temporal choice of a
consumer with the help of a diagram. 10
TrSreR (S SROHEe o [{acy foaq
KISIR ST IR Il

Explain short-run equilibrium of a firm
under perfect competition. 10

off Aferfere g3 AR FFFETS (FEATE
SR &S I¢I, I A7 |

Or / Fg

What are isoquants? Show the
increasing, constant and decreasing
returns to scale with the help of
isoquants. 1+3+3+3=10
AT-Teo @A 7 T-BATE ([FIR RS
ST, ST F SR S @R
oS (T | :

Define substitution effect. Explain
Slutsky substitution effect with the help
of diagram. 2+8=10

ofses Reeq i fran | W afSss Res
oag =@ I 47 |
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or / 7F

Explain the concepts of total fixed cost,
total variable cost and total cost. How are

they related to each other? Explain.
ZrrI+a—16

P B 9, P ARSI S PP T AR@
T AT | 2R I FTAAE 00 7 |
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